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58 i3 & 58 =

o EEERE  WKCDS-X 14 - 30 o ERHE  T-14
o HI B <tk 370 x 370 x 725 o JEFHiEIE 300 mm
o [FRRZE C D ¥t FH (1 kfTiE) o N7 8— WXI-25%x7x5. 5
o RFYLU G N—
* 1% i — Wi A T P = 56 kN CEwF Ps = 16.5 mm
- EEERE i= 0 - BT E RS Z = 536 mr
- HEEZEELRE P, = 56.0 kN
- BEE R axb =200 mm x 500 mm
- X EEERE 0= 281 mm
s ARTYUGNR—AARER 4 = 200 mm
CRTYDGN——KREHEMRLE L TEHET S,
- ARG Op = 0.180 Kk N/mm?

w
VAR A A A A

21

e HiFE—AT K N

_ PixPg
W= axb
_56.0 x 16.5
W 500 x 500 0.009 kN/mm

M=%><W X 0 x (20 — 01 ) (0> 08 0,=0)

= %0009 x 200 x (2 x 281 — 200 )

8
= 83.6 kN-mm
oI5 Nh: O
o =%:%# 0.16 kN/mm2<cob
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